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8-4 Solving Radical Equations
NS 7

Objectives:

1. I can solve radical equations and cheektor—
solut]
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Remember that you can graph the two sides of an equation as separate functions to find
solutions of the equation: a solution is any x-value where the two graphs intersect.

The graph of y = vx — 3 is shown on a calculator window of —4 < x < 16 and
—2 < y < 8. Reproduce the graph on your calculator. Then add the graph of y = 2.

e

b

How many solutions does the equaﬁo@ = 2 have?

On your calculator, replace the graph of y = 2 with the graph of y = —1.

How do you know?

How many solutions does the equation vVx — 3 = —1 have? How do you know?
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Graph both sides of v4x — 4 = x + 1 as separate functions on your calculator.
How many solutions does v4x —4 =x + 1 have?
Replace the graph of y = x + 1 with the graph of y = %x.

How many solutions does vV4x — 4 = %x have?

Replace the graph of y = %x with the graph of y = 2x — 5.

How many solutions does vV4x —4 = 2x — 5have?
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Solving Analytically

Solve.
4Vx A=6
xlhe ¥©

Add < “Wx-s

Simplify.

-

Now divide each side by 4 to isolate the radical.

. #x =12
—
4 . Vx =3 Divide and simplify.

Next, square eac e equation to eliminate the radical.

Finally, check x =9 m the original equation to verify that it is a solution and not an extraneous
solution.
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Example 1

Solve the equation. Check for extraneous solutions.
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(x+6)7— (2x —4)7 =0

/\IX'f’lD— w4 =0
I 4 4 ZY’4

/07#(94 24

:?X‘4_

olve (x + 5@— 2 =1.

o Alws 327
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Solve the following, check for extraneous solutions

=32

Sy =IT=x=1—_

N2x+5+4=3

4t
T
=
Rx%?/_6
aAx = -4
= =)
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Example2 Solve the equation.

@) Vx+2+7=5
7 7
2\3
24 = -
Xt A= 3
-

X =-10
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Your Turn

1
8. Solve 2(x — 50\7 = —10.

2 3
- N =90 :_.‘,Q—— (Q@-"H)

i g (x-50)7 "1™
X,‘BO:—D\E)
£50  +50
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Solve the following:
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